

NOTICE OF A SPECIAL MEETING OF THE PLEASANT GROVE CITY COUNCIL

Notice is hereby given that the Pleasant Grove City Council will hold a Special Meeting on Thursday June 6, 2024 at 12:00 p.m. Noon in the Community Room at 108 S 100 E. Pleasant Grove, Utah.

1. CALL TO ORDER.

2. To consider awarding the 1160 North Utilities and Roadway Improvements Project to Got Dirt? Construction, LLC with a total base bid price of \$1,922,116.72, and authorize the Mayor to sign the Notice of Award. *Presenter: Director Winterton*

3. ADJOURN.

CERTIFICATE OF POSTING:

I certify that the above notice and agenda was posted in three public places within the Pleasant Grove City limits, City Hall, Library and Community Room 108 S 100 E. Agenda also posted on State (http://pmn.utah.gov) and City websites (www.plgrove.org).

/s/ Wendy Thorpe Thorpe, City Recorder

Date: June 5, 2024 Time: 11:00 am



May 30, 2024

Office: (801) 785-2941

FAX: (801) 785-5667

Mayor Guy Fugal 70 South 100 East Pleasant Grove, Utah 84062

Subject: 1160 North Utilities and Roadway Improvements Project

Dear Mayor,

Attached is the bid tabulation for the 1160 North Utilities and Roadway Improvements Project. The low bidder was Got Dirt? Construction, LLC with a Base Bid price of \$1,872,116.72 which was 2 percent below the engineers' estimate. This project was posted on the Utah Public Procurement Place. There were five bids received on the project with an average base bid price of \$2,574,748.62. This project has an early completion bonus in the contract of \$50,000.00.

We recommend the project Base Bid including the early completion bonus if achieved be awarded to Got Dirt? Construction, LLC for a total of \$1,922,116.72. We have checked their license, and references and have found everything in order.

Attached are two (2) copies of the Notice of Award if the City so chooses to award this. project.

Sincerely,

Britton Tveten, P.E. Engineer

SECTION 003600 NOTICE OF AWARD

PLEASANT GROVE CITY

1160 North Utilities and Roadway Improvements Project Bids

Got Dirt? Construction, LLC

TO: Got Dirt? Construction, LLC	
PROJECT DESCRIPTION: 1160 North Utiliti	es and Roadway Improvements Project Bids
Pleasant Grove City has considered the BID su to its Notice Inviting Bids and Instructions to E	abmitted to you for the above-described WORK in response Bidders.
You are hereby notified that your BID has been for bid schedule(s) A,B, and C.	n accepted for items in the amount of \$1,922,116.72
* *	to execute the Contract and furnish the required Contractor's rtificates of insurance within seven calendar days from the
said Owner will be entitled to consider all your	sh said bonds within seven days from the date of this Notice, rights arising out of the Owner's acceptance of your BID as d. The Owner will be entitled to such other rights as may be
You are required to return an acknowledg	ged copy of NOTICE OF AWARD to the Owner.
Dated this 6 day of June, 20 24.	
	Ву
ACCEPTANCE OF NOTICE OF AWARD	Title
Ву	
Title	
Date	

1160 NORTH UTILITIES AND ROADWAY IMPROVEMENTS PROJECT

Project Number: 2023-01

Bid Tabulation Bids were due on May 29, 2024 at 2:00 p.m.
 Contractors
 Base Bid
 Base Bid completion bonus

 Got Dirt? Construction, LLC
 \$1,872,116.72
 \$1,922,116.72

 MC Contractors Inc.
 \$2,537,753.00
 \$2,587,753.00

 Cody Ekker Construction, Inc.
 \$2,596,314.50
 \$2,646,314.50

 S&L Inc
 \$2,664,857.50
 \$2,714,857.50

 Pronghorn Construction, Inc.
 \$2,730,451.00
 \$2,780,451.00

 Newman Construction
 \$3,046,999.00
 \$3,096,999.00

PNL Construction Non-Responsive
Average \$2,574,748.62

verage \$2,574,748.62 \$2,624,748.62

Items shown in RED are corrected mathematical errors based

UNIT PI	RICE SCHEDULE A - 1160 NORTH BASE BID			Engine	eer's Estimate	Got Dirt?	Construction, LLC	MC C	ontractors Inc.	Cody Ekke	r Construction, Inc.		S&L Inc	Pronghorn	Construction, Inc.	Newman Construction	
Item#	Description	Unit	Quantity	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST
1	Mobilization and Demobilization	LS	1	\$114,000.00	\$114,000.00	\$24,145.37	\$24,145.37	\$80,000.00	\$80,000.00	\$125,000.00	\$125,000.00	\$200,000.00	\$200,000.00	\$350,000.00	\$350,000.00	\$127,000.00	\$127,000.00
2	Install 8" PVC C900 Water Main & Fittings	LF	990	\$101.00	\$99,990.00	\$145.21	\$143,757.90	\$151.00	\$149,490.00	\$147.00	\$145,530.00	\$150.00	\$148,500.00	\$110.00	\$108,900.00	\$109.00	\$107,910.00
3	Install 1" Water Service Line	LF	640	\$60.00	\$38,400.00	\$94.43	\$60,435.20	\$129.00	\$82,560.00	\$39.00	\$24,960.00	\$50.00	\$32,000.00	\$90.00	\$57,600.00	\$90.00	\$57,600.00
4	Install Water Meter and Setter (City Furnished) Includes Demo of Existing	EA	19	\$1,000.00	\$19,000.00	\$736.26	\$13,988.94	\$1,785.00	\$33,915.00	\$750.00	\$14,250.00	\$2,300.00	\$43,700.00	\$3,000.00	\$57,000.00	\$1,136.00	\$21,584.00
5	Demo Fire Hydrant	EA	2	\$1,050.00	\$2,100.00	\$2,725.09	\$5,450.18	\$2,900.00	\$5,800.00	\$1,250.00	\$2,500.00	\$1,500.00	\$3,000.00	\$2,500.00	\$5,000.00	\$1,750.00	\$3,500.00
6	Install Fire Hydrants and Gate Valve Assembly	EA	2	\$10,500.00	\$21,000.00	\$8,896.61	\$17,793.22	\$10,050.00	\$20,100.00	\$10,500.00	\$21,000.00	\$11,000.00	\$22,000.00	\$11,000.00	\$22,000.00	\$10,300.00	\$20,600.00
7	Install 8" Water Gate Valve	EA	3	\$3,300.00	\$9,900.00	\$3,157.89	\$9,473.67	\$3,555.00	\$10,665.00	\$3,975.00	\$11,925.00	\$3,500.00	\$10,500.00	\$1,500.00	\$4,500.00	\$4,000.00	\$12,000.00
8	Install 8" Sewer Line and Demo Existing	LF	850	\$173.25	\$147,262.50	\$174.46	\$148,291.00	\$223.00	\$189,550.00	\$420.00	\$357,000.00	\$325.00	\$276,250.00	\$200.00	\$170,000.00	\$340.00	\$289,000.00
9	Install Sewer Manhole	EA	3	\$8,295.00	\$24,885.00	\$8,503.21	\$25,509.63	\$10,000.00	\$30,000.00	\$7,975.00	\$23,925.00	\$7,000.00	\$21,000.00	\$7,500.00	\$22,500.00	\$7,620.00	\$22,860.00
10	Install 4" Sewer Service Lateral	LF	580	\$115.00	\$66,700.00	\$62.75	\$36,395.00	\$212.00	\$122,960.00	\$110.00	\$63,800.00	\$100.00	\$58,000.00	\$100.00	\$58,000.00	\$275.00	\$159,500.00
11	Install 4" Pressure Irrigation PVC Distribution	LF	1,050	\$94.50	\$99,225.00	\$54.53	\$57,256.50	\$77.00	\$80,850.00	\$105.00	\$110,250.00	\$85.00	\$89,250.00	\$85.00	\$89,250.00	\$75.00	\$78,750.00
12	Install 1" Pressure Irrigation Service	LF	580	\$50.00	\$29,000.00	\$32.16	\$18,652.80	\$68.00	\$39,440.00	\$39.00	\$22,620.00	\$45.00	\$26,100.00	\$90.00	\$52,200.00	\$70.00	\$40,600.00
13	Install 4" Pressure Irrigation Gate Valve	EA	2	\$2,400.00	\$4,800.00	\$3,466.16	\$6,932.32	\$1,982.00	\$3,964.00	\$2,800.00	\$5,600.00	\$3,000.00	\$6,000.00	\$2,000.00	\$4,000.00	\$3,600.00	\$7,200.00
14	Install Pressure Irrigation Meter	EA	19	\$1,000.00	\$19,000.00	\$1,156.28	\$21,969.32	\$1,600.00	\$30,400.00	\$650.00	\$12,350.00	\$1,500.00	\$28,500.00	\$3,500.00	\$66,500.00	\$975.00	\$18,525.00
15	Removal and Disposal of the Existing Irrigation Main	LF	1,050	\$16.00	\$16,800.00	\$16.54	\$17,367.00	\$22.00	\$23,100.00	\$25.00	\$26,250.00	\$15.00	\$15,750.00	\$25.00	\$26,250.00	\$54.00	\$56,700.00
16	Removal and Disposal of Existing Manholes	EA	4	\$2,000.00	\$8,000.00	\$2,725.09	\$10,900.36	\$3,000.00	\$12,000.00	\$1,500.00	\$6,000.00	\$1,000.00	\$4,000.00	\$2,500.00	\$10,000.00	\$1,750.00	\$7,000.00
17	Removal and Disposal of the Existing Stormwater Pipe and	LS	1	\$10,000.00	\$10,000.00	\$25,885.91	\$25,885.91	\$12,675.00	\$12,675.00	\$4,000.00	\$4,000.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$6,830.00	\$6,830.00
18	Roadway Excavation (Plan Quantity)	CY	1,330	\$31.50	\$41,895.00	\$36.00	\$47,880.00	\$53.00	\$70,490.00	\$32.00	\$42,560.00	\$50.00	\$66,500.00	\$50.00	\$66,500.00	\$43.00	\$57,190.00
19	Demo Curb, Gutter, and Sidewalk	SF	15,500	\$1.50	\$23,250.00	\$3.74	\$57,970.00	\$2.70	\$41,850.00	\$5.00	\$77,500.00	\$2.50	\$38,750.00	\$5.00	\$77,500.00	\$2.80	\$43,400.00
20	Install Road Base (Plan Quantity)	CY	930	\$54.00	\$50,220.00	\$71.27	\$66,281.10	\$63.00	\$58,590.00	\$62.00	\$57,660.00	\$55.00	\$51,150.00	\$65.00	\$60,450.00	\$56.50	\$52,545.00
21	Asphalt Resurfacing Roadway, 3" HMA Class II	Tons	680	\$106.00	\$72,080.00	\$146.01	\$99,286.80	\$115.00	\$78,200.00	\$115.00	\$78,200.00	\$115.00	\$78,200.00	\$130.00	\$88,400.00	\$175.00	\$119,000.00
22	Install Sidewalk	SF	10,511	\$15.00	\$157,665.00	\$9.63	\$101,220.93	\$7.25	\$76,204.75	\$9.50	\$99,854.50	\$10.00	\$105,110.00	\$6.00	\$63,066.00	\$12.00	\$126,132.00
23	Install 24" Curb and Gutter	LF	2,102	\$57.00	\$119,814.00	\$27.13	\$57,027.26	\$54.00	\$113,508.00	\$45.00	\$94,590.00	\$40.00	\$84,080.00	\$30.00	\$63,060.00	\$43.00	\$90,386.00
24	Install ADA Ramp	EA	4	\$2,000.00	\$8,000.00	\$2,779.55	\$11,118.20	\$4,400.00	\$17,600.00	\$5,850.00	\$23,400.00	\$2,000.00	\$8,000.00	\$5,000.00	\$20,000.00	\$5,500.00	\$22,000.00
25	Install 5' Cross Gutter Replacement	SF	500	\$19.00	\$9,500.00	\$17.69	\$8,845.00	\$21.00	\$10,500.00	\$22.00	\$11,000.00	\$35.00	\$17,500.00	\$30.00	\$15,000.00	\$27.00	\$13,500.00
26	Traffic Control	LS	1	\$17,250.00	\$17,250.00	\$11,623.55	\$11,623.55	\$10,000.00	\$10,000.00	\$47,300.00	\$47,300.00	\$70,000.00	\$70,000.00	\$50,000.00	\$50,000.00	\$44,000.00	\$44,000.00
27	Install Driveway Approaches	SF	1,260	\$19.00	\$23,940.00	\$11.37	\$14,326.20	\$16.00	\$20,160.00	\$14.00	\$17,640.00	\$20.00	\$25,200.00	\$10.00	\$12,600.00	\$19.00	\$23,940.00
	1	BASE I	BID SCHED	ULE A TOTAL	\$1,253,676.50		\$1,119,783.36		\$1,424,571.75		\$1,526,664.50		\$1,539,040.00	†	\$1,645,276.00		\$1,629,252.00

1160 NORTH UTILITIES AND ROADWAY IMPROVEMENTS PROJECT

Project Number: 2023-01

Bid Tabulation

Bids were due on May 29, 2024 at 2:00 p.m.

Base Bid plus early completion bonus Base Bid Contractors Got Dirt? Construction, LLC MC Contractors Inc. \$1,922,116.72 \$2,587,753.00 \$1,872,116.72 \$2,537,753.00 \$2,596,314.50 \$2,664,857.50 \$2,646,314.50 \$2,714,857.50 Cody Ekker Construction, Inc. S&L Inc Pronghorn Construction, Inc. \$2,780,451.00 \$3,096,999.00 \$2,730,451.00

\$3,046,999.00

PNL Construction

Newman Construction

Non-Responsive \$2,574,748.62 \$2,624,748.62 Average

Items shown in RED are corrected mathematical errors based

UNIT P	PRICE SCHEDULE B - 600 WEST BASE BID			Engin	neer's Estimate	Got Dirt?	Construction, LLC	MC C	ontractors Inc.	Cody Ekke	r Construction, Inc.	:	S&L Inc	Pronghori	n Construction, Inc.	Newm	an Construction
Item #	Description	Unit	Quantity	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST
28	Mobilization and Demobilization	LS	1	\$37,000.00	\$37,000.00	\$2,241.39	\$2,241.39	\$80,000.00	\$80,000.00	\$50,000.00	\$50,000.00	\$70,000.00	\$70,000.00	\$100,000.00	\$100,000.00	\$73,000.00	\$73,000.00
29	1420 North Water Main Connection and Abandonment	EA	1	\$15,750.00	\$15,750.00	\$6,362.17	\$6,362.17	\$22,650.00	\$22,650.00	\$11,050.00	\$11,050.00	\$20,000.00	\$20,000.00	\$3,000.00	\$3,000.00	\$20,000.00	\$20,000.00
30	Install 10" PVC C900 Water Main & Fittings	LF	560	\$101.00	\$56,560.00	\$185.63	\$103,952.80	\$154.00	\$86,240.00	\$200.00	\$112,000.00	\$175.00	\$98,000.00	\$110.00	\$61,600.00	\$180.00	\$100,800.00
31	Install 1" Water Service Line	LF	180	\$60.00	\$10,800.00	\$33.73	\$6,071.40	\$135.00	\$24,300.00	\$39.00	\$7,020.00	\$50.00	\$9,000.00	\$156.00	\$28,080.00	\$139.00	\$25,020.00
32	Demo Fire Hydrant	EA	1	\$1,050.00	\$1,050.00	\$5,450.18	\$5,450.18	\$2,900.00	\$2,900.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$2,040.00	\$2,040.00
33	Install Fire Hydrants and Gate Valve Assembly	EA	1	\$10,500.00	\$10,500.00	\$8,190.30	\$8,190.30	\$10,500.00	\$10,500.00	\$10,500.00	\$10,500.00	\$11,000.00	\$11,000.00	\$10,000.00	\$10,000.00	\$10,500.00	\$10,500.00
34	Install 8" Water Gate Valve	EA	8	\$3,300.00	\$26,400.00	\$3,647.66	\$29,181.28	\$3,555.00	\$28,440.00	\$3,975.00	\$31,800.00	\$3,500.00	\$28,000.00	\$3,500.00	\$28,000.00	\$4,500.00	\$36,000.00
35	Install 8" PVC Gravity Sewer Line	LF	300	\$173.25	\$51,975.00	\$200.34	\$60,102.00	\$377.00	\$113,100.00	\$420.00	\$126,000.00	\$325.00	\$97,500.00	\$195.00	\$58,500.00	\$508.00	\$152,400.00
36	Install 18" PVC Gravity Sewer Line	LF	280	\$259.88	\$72,766.40	\$529.69	\$148,313.20	\$481.00	\$134,680.00	\$450.00	\$126,000.00	\$450.00	\$126,000.00	\$245.00	\$68,600.00	\$589.00	\$164,920.00
37	Install Sewer Manhole (5' Diameter)	EA	2	\$8,295.00	\$16,590.00	\$7,819.04	\$15,638.08	\$10,800.00	\$21,600.00	\$8,750.00	\$17,500.00	\$8,000.00	\$16,000.00	\$7,500.00	\$15,000.00	\$18,640.00	\$37,280.00
38	Reconnect 4" Sewer Service Lateral	EA	4	\$500.00	\$2,000.00	\$600.60	\$2,402.40	\$3,500.00	\$14,000.00	\$750.00	\$3,000.00	\$3,500.00	\$14,000.00	\$1,500.00	\$6,000.00	\$2,620.00	\$10,480.00
39	Removal and Disposal of Existing Manholes	EA	3	\$2,000.00	\$6,000.00	\$1,816.73	\$5,450.19	\$3,000.00	\$9,000.00	\$1,500.00	\$4,500.00	\$1,000.00	\$3,000.00	\$2,000.00	\$6,000.00	\$1,580.00	\$4,740.00
40	Remove Asphalt	SF	9,265	\$1.15	\$10,654.75	\$0.59	\$5,466.35	\$2.25	\$20,846.25	\$2.00	\$18,530.00	\$1.00	\$9,265.00	\$3.00	\$27,795.00	\$0.80	\$7,412.00
41	Asphalt Resurfacing Roadway, 3" HMA	Tons	220	\$106.00	\$23,320.00	\$214.35	\$47,157.00	\$157.00	\$34,540.00	\$145.00	\$31,900.00	\$180.00	\$39,600.00	\$170.00	\$37,400.00	\$415.00	\$91,300.00
42	Traffic Control	LS	1	\$25,875.00	\$25,875.00	\$11,623.55	\$11,623.55	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00	\$45,000.00	\$45,000.00	\$33,025.00	\$33,025.00
		BASE I	BID SCHED	ULE B TOTAL	\$367,241.15		\$457,602.29		\$637,796.25		\$570,800.00		\$577,865.00		\$497,475.00		\$768,917.00

UNIT PF	RICE SCHEDULE C - 1100 NORTH BASE BID			Engin	eer's Estimate	Got Dirt?	Construction, LLC	MC C	Contractors Inc.	Cody Ekke	er Construction, Inc.		S&L Inc	Pronghorn Construction, Inc.		Newman Construction	
Item #	Description	Unit	Quantity	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST
43	Mobilization and Demobilization	LS	1	\$19,000.00	\$19,000.00	\$1,793.11	\$1,793.11	\$34,650.00	\$34,650.00	\$40,000.00	\$40,000.00	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$57,720.00	\$57,720.00
44	Install 8" Sewer Line	LF	480	\$173.25	\$83,160.00	\$251.45	\$120,696.00	\$277.00	\$132,960.00	\$420.00	\$201,600.00	\$325.00	\$156,000.00	\$195.00	\$93,600.00	\$323.00	\$155,040.00
45	Install Sewer Manhole	EA	2	\$8,295.00	\$16,590.00	\$8,738.19	\$17,476.38	\$10,800.00	\$21,600.00	\$8,500.00	\$17,000.00	\$7,000.00	\$14,000.00	\$7,500.00	\$15,000.00	\$11,000.00	\$22,000.00
46	Reconnect 4" Sewer Service Lateral	EA	8	\$500.00	\$4,000.00	\$668.42	\$5,347.36	\$3,500.00	\$28,000.00	\$750.00	\$6,000.00	\$3,500.00	\$28,000.00	\$3,500.00	\$28,000.00	\$2,540.00	\$20,320.00
47	Install 8" PVC C900 Water Main & Fittings	LF	480	\$1.50	\$720.00	\$70.26	\$33,724.80	\$154.00	\$73,920.00	\$140.00	\$67,200.00	\$130.00	\$62,400.00	\$110.00	\$52,800.00	\$115.00	\$55,200.00
48	Install 8" Water Gate Valve	EA	4	\$3,300.00	\$13,200.00	\$1,249.80	\$4,999.20	\$3,555.00	\$14,220.00	\$3,975.00	\$15,900.00	\$3,500.00	\$14,000.00	\$3,500.00	\$14,000.00	\$3,960.00	\$15,840.00
49	Install 1" Water Service Line	LF	350	\$54.00	\$18,900.00	\$22.60	\$7,910.00	\$135.00	\$47,250.00	\$39.00	\$13,650.00	\$50.00	\$17,500.00	\$190.00	\$66,500.00	\$94.00	\$32,900.00
50	Demo Fire Hydrant	EA	1	\$1,050.00	\$1,050.00	\$5,450.18	\$5,450.18	\$2,900.00	\$2,900.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$2,040.00	\$2,040.00
51	Remove Asphalt	SF	8,800	\$1.15	\$10,120.00	\$1.54	\$13,552.00	\$2.25	\$19,800.00	\$2.00	\$17,600.00	\$1.00	\$8,800.00	\$3.00	\$26,400.00	\$0.80	\$7,040.00
52	Asphalt Resurfacing Roadway, 3" HMA	Tons	190	\$106.00	\$20,140.00	\$201.01	\$38,191.90	\$160.00	\$30,400.00	\$145.00	\$27,550.00	\$180.00	\$34,200.00	\$160.00	\$30,400.00	\$408.00	\$77,520.00
53	Removal and Disposal of Existing Manholes	EA	2	\$2,000.00	\$4,000.00	\$2,725.09	\$5,450.18	\$3,000.00	\$6,000.00	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00	\$1,580.00	\$3,160.00
54	Traffic Control	LS	1	\$25,875.00	\$25,875.00	\$15,161.16	\$15,161.16	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$22,790.00	\$22,790.00
		BASE	BID SCHED	ULE C TOTAL	\$216,755.00		\$269,752.27		\$426,700.00		\$431,000.00		\$413,400.00		\$448,200.00		\$471,570.00

COMBINED BASE BID	Engir	neer's Estimate	Got Dirt? Construction, LLC	MC Contractor	rs Inc. Cody	y Ekker Construction, Inc.	S&L Inc	Pronghorn Construction, Inc.	Newman Construction
	BASE BID COMBINED TOTAL	\$1,837,672.65	\$1,847,137.92	\$2,	,489,068.00	\$2,528,464.50	\$2,530,305.00	\$2,590,951.00	\$2,869,739.00

1160 NORTH UTILITIES AND ROADWAY IMPROVEMENTS PROJECT

Project Number: 2023-01

Bid Tabulation Bids were due on May 29, 2024 at 2:00 p.m.

Base Bid plus early completion bonus Base Bid Contractors Got Dirt? Construction, LLC MC Contractors Inc. \$1,922,116.72 \$2,587,753.00 \$1,872,116.72 \$2,537,753.00 \$2,596,314.50 \$2,664,857.50 \$2,646,314.50 \$2,714,857.50 Cody Ekker Construction, Inc. S&L Inc Pronghorn Construction, Inc.

\$2,730,451.00

\$3,046,999.00

Non-Responsive \$2,574,748.62 PNL Construction

Newman Construction

\$2,624,748.62 Average

Items shown in RED are corrected mathematical errors based

UNI	UNIT PRICE SCHEDULE - ADDITIVE/ALTERNATIVE BID IT			ITEMS Engineer's Estimate		Got Dirt? Construction, LLC		MC Contractors Inc.		Cody Ekker Construction, Inc.		S&L Inc		Pronghorn Construction, Inc.		Newman Construction	
Item #	Description	Unit	Quantity	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST	Unit Price	COST
55	Homeowner's Sewer Service on 1160N	LF	535.00	\$115.00	\$61,525.00	\$35.12	\$18,789.20	\$71.00	\$37,985.00	\$110.00	\$58,850.00	\$250.00	\$133,750.00	\$200.00	\$107,000.00	\$308.00	\$164,780.00
56	Homeowner's Sewer Service Cleanout on 1160N	EA	10.00	\$500.00	\$5,000.00	\$310.11	\$3,101.10	\$595.00	\$5,950.00	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$3,000.00	\$30,000.00	\$985.00	\$9,850.00
57	Flowable Fill (5 CY Minimum Load)	CY	10.00	\$300.00	\$3,000.00	\$308.85	\$3,088.50	\$475.00	\$4,750.00	\$400.00	\$4,000.00	\$300.00	\$3,000.00	\$250.00	\$2,500.00	\$263.00	\$2,630.00
Additiv		Additive #1	TOTAL	\$69,525.00		\$24,978.80		\$48,685.00		\$67,850.00		\$141,750.00		\$139,500.00		\$177,260.00	

\$2,780,451.00 \$3,096,999.00

COMBINED BASE BID WITH ADDITIVE/ALT	TERNATE Engin	neer's Estimate	Got Dirt? Construction, LLC		MC Contractors Inc.		Cody Ekker Construction, Inc.		S&L Inc		Pronghorn Construction, Inc.		Newman Construction	
	Combined total	\$1,907,197.65		\$1,872,116.72		\$2,537,753.00		\$2,596,314.50		\$2,672,055.00		\$2,730,451.00		\$3,046,999.00